
���������
	��
����������������	������
����������	����
��� ������!�����"#�$!%�&(')&+* ������,����-�/. % ���0����!�124365�7�869�:-8#;=<�8?>0@�ACBD8?E
5GFHA�<
7�I0@=5 >0@-JK>-L
M?:=<�869�E
A�N�A#@�A�N�50<=L
FO7P5Q;=AR7�A->-I0@�STM?9
8?;=8UE=LV;=<�A�M?9
A�N�AQW=L
MX@=5L ;=AG;=<�A�L�36Y�A6@=Z�E=A�7�I[A�M\E=A�Y�50E
L=S^]P_�5�`-A�9=5^L=E=L=a
L=L=<�A�Y�5�E
5#<�8?3UI0@�Z�9=5�9
5�7�L 2b] cd]�efL�>-8X@=Z�E=L=:-A�Y�5=]g�@-JGY�hiW=L
Mj@�8UE=L=klL
M\;
A6@�Z�3CA�Y�5�E=A^W�5�M?9=E=A-8$ml8U<
7P5=n
o�prqts-ufv s�w�x pOy�z|{} ~N�>-8 }�� � ~ q�s ~ } u�v {�� 5[��q } uf��FOI-E=:=a=L-JR�D5�<
7P50k
:�@=5
]� �
�����-�$! &f�HI�MU9�ZD�l��;=<�A�MU9=A-8DW=L
MX@�A �=� �K� ~ �d�/����� �V� ~q�� ~ � u�v {���� �K� �fM?9
8?;=8UE=Z[Y0��ACB^>-8?E
L-J$�KY[a
8X@�A-8$W=L
Mj@�A[o��
q � u�]���A�N�>=5 � 8CMj@=L M?<
50Y�E=8?E
L=8 �-�^� s/q��#���#����u<
503U<�8\� L
7�A � 9=A{ ]¡�H<=L � ��¢ { ~?£(£¤£(~ ��¥ Y�hi;=A¦@�E=8UE=A
nK§¦¨C©C�Uª � v«§¦¨C©0� ��� L/¬/8CM?9�Zd8?>-L
E
M?9�Y�8?E=E
A�8 �G��� §¦¨C©C� � <�8\� 8UE=L=8M\<�50Y�E
8?E=L-J � � � s/q��#���#��u\]� ]|�­<=L �®�¯�K°±{ ~H² v��[³C´ ¢ �)°µ{ ~ �¶z q �K°±{ u ¥ Y�hi;=A6@=E=8?E=A�nR§¦¨C© � ª � v®� �=·+x¹¸Cº�» y §¦¨C© � �
� L|¬¼8¦MU9�Z8?>-L=E�M?9�Y�8?E=E=A-8½�G���r� ��·�x¹¸Cº�» y §¦¨¦© � � <�8?� 8?E=L
8 M\L
MU9=8U7�h¾ � � � s¿qÀ�G���r�
u¬�ÁCÂXÃ�Ä0Å x¤Æ y� Å � ÁCÂXÃ�Ä0Å x(Ç y� Å q��#���#� �=·+x¤¸¦º�» y u £Èi!=�$��É�!������ &VÊHE
5U@�A�N�L=W
E
5UJK9
8¦A�<�8U7P5K;=<
LK�|Ë � ~ � v®Ì)>-A�:�5C365�E
5lÍÎ] 2Ï]+ÐH8CM?9=8U<�8UE=:-A¶qÀ<�8\36I0@�Z�9
5�9ÑE=8A�;
I�`¦@�L=:-A�Y�50E�u�] Ò ,������
�d����	�����!=	�Ó���Ô{ ]�efL�>-8X@=Z�E=L
:�A�Yi2b] cd]\ÕÏ5�MU9�E=hi8�ml8?<�7P5iLH@�A�N�50<=L=Fi7�L=<�A�Y�50E=L
8�Yi:-A�E=8?W=E
A�7R;=<�A�MU9=A�7l;=A¦@�8�Ö�Ö�c)5�9=8?<
L
5U@=h7�8?B^>�I�E�50<�A�>-E=hO�RE
5¦I-W=E=hO�QW
9
8?E=L
kl;
A×50E
56@�L
9�L
W=8CM\:-A�kl9=8¦A�<=L
LlW
L
M?8Ø@RLl;
<=L�@�ACBD8?E
L-J-7�� {UÙ�Ù-Ú �f7�8Ø��] �Û7P5�9�]� ]PÜiÝ(ÞUßjÞ?à�á^]
â-���GÞDßj��à(ã=ä=à(Þ$åU³�ßjÞUß�æèç�éjê=ÞD��Ýëßjå?ìjÞ?éjÞ$à(��í�³�ìjÝ¤éjê
��î=ìj��ä=à(Þ?�ïÖ�Ö ð�ñóò/� {6Ù�ô�ô ]���õP��àt] ��ô ��öH�
]P÷r��î�Öô�ø�Ù � ô�ù={ ]ø ]úò�³�û¦³�ûC³0ü?ã|â
] �Oý Ý(þ����GÝëåØê=ÝOÿ ]��=ÞUìj�[³0é���ã=��éjÝ(Þ���éXßG³���� éXê=ÞRî���à(þ��=���GÝë³0à�éjÝ(�GÞK��Ý(ßXå\ìXÞ\éXÞRà(��í�³0à(í���ìjÝ¤éjê
� çÀ��ì³��
���[³0à(��ã
ßfÞ?à(à(î�éjÝëå$å\ã=ì	��Þ6ßOÖ�Ö�
f���#�GÞ���éØ³0ìXÝ¤Ý
�[³CéXê=Þ?�[³0éjÝëå\Ý(ã
�=Ý���Þ?ìØßjÝ¹éØ³CéjÝëßOßj³��
å�éXÝ
î
³0ã=à(Ý�� {UÙ�Ù�ô ]+��õP��à ]�÷ Ú �PöH�
] { �î�] ô
{ � Ù
{ ]


